auid ) gutbinit JbS 99 )] (Gunniinl Gkl bt § Gl g
J s

> (105

<
Ty
o
tald
Lol foe  SElgils pli
R R R R R R R R R R R RIS R R
%]
g A P s P LTy o B Nl PR TR 5 P Lt L N
A asiviv M (03) o ple I
FLY
E Wt gy o
Q S5 uhr-h =T :};‘f
g e sl | e e RN
ﬁ [ hhtd Jln.l- J#'lﬁ hﬂu ﬁjiwalﬁuu ﬁhﬂﬂﬁ B9539 i'_u.nj.i ] '\;"
R R
[ 0P o = oleT ] >
s ::: s FaY
% T AR W o Sl e Vo2 5 Jlfe Slia ?E:f N
e i, o o S N T W it w N N N N L '"' £ (V%]
ﬁ Sl b ylads g Slaws o Jlmeial 3lga 4ylsie g
ﬁ o el B s R L sl Slgs sy @
T ) r- e =
E G ™ T .;:L.....;'-IJJ r [ :
! . e gulis S e w Dt Za el Gt e slayg et
E ¥ &4 Y o id, ot ¥ %
4. ¥ Y. amag | ¥
E - bl Y- (50,1 3 opaeli) (5 10,11 3 ks o5 slapins | & E
Ll W i s dgle | F
g LT T e A 5w Al ¥ ﬁ
1 213 site 8505 gail ! A
Ny Sl il il }1 ool E
I L

\/ 1y o i i g iy s el ! b Ll i g ke el o o s e e BT ) e g i e
G ) il bt § 9 it 3] gt J15 90 5 Glsbldal § Sl ! gty




auid ) gutbinit JbS 99 )] (Gunniinl Gkl bt § Gl g

A ET 105A (N7 o) olel as;!

k) rna i g oot (31

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1-  Lawyers for both parties will convene this morning to see if a ———- can be reached
before the matter reaches the court.
1) transparency 2) realism 3) settlement 4) discipline
2-  Later he -—— — her daughter for having talked to her teacher impolitely.
1) prevented 2) scolded 3) restricted 4) neglected
3-  The volcano had remained -——----- for over a hundred years, and most people thought it
would never burst again.
1} dormant 2) drastic 3) severe 4) incidental
4-  You will certainly -—-—- your sprained ankle if you attempt to play basketball today.
1) coerce 2) avoid 3) discomfit 4) exacerbate
5- My medical condition is —------- and cannot be altered even with medication.
1) immutable 2) exhaustible 3) durable 4) demanding
6-  The comedian hoped his jokes would ——-—- a great deal of laughter from the audience.
1) pursue 2) explode 3) necessitate 4) elicit

7-  Because Kelly’s parents were not affectionate, she grew up suffering from a/an -
of love and affection.

1) isolation 2) malfunction 3) violation 4) deprivation
8- Although we may never completely -——------ every disease on earth, it’s heartening to see
the progress medicine has made on so many fronts.
1} overlook 2) eradicate 3) suspend 4) forecast
9-  As people mature, their -----—- skills become more developed, so they are capable of
solving more complex problems.
1) collective 2) sufficient 3) cogmitive 4) hypothetical
10- 1 wonder why Cathy spends so much time telling me -----—-- facts that have nothing to
do with me.
1) curious 2)1dentical 3) irrelevant 4) unequivocal

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The job of theoretical physicists 15 twofold: first, to explain what our experimental
colleagues have discovered; and second, (11) -=-=-m-- phenomena that have not yet
(12) =mmmmmnan . The history of scientific discovery shows that progress is achieved using
(13) ==—=mmm- A

Quantum theory. for example, was largely driven by empirical results, (14) --—----—-
Einstein’s general theory of relativity was (15) ------—-- speculation and thought
experiments, as well as advanced mathematics.

11- 1) to predict 2) predicting 3) it 1s to predict 4) predict
12- 1) found 2} to be found 3) been found 4) be found
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13- 1) both the methods 2) both methods 3) both of methods  4) methods both
14- 1) as though 2) in that 3) so that 4) whereas
15- 1) a product of 2) produced 3) production of 4) producing

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice {1}, (2), (3), or {4). Then mark the correct cheice on your answer sheet.

PASSAGE 1:

Perhaps another interesting answer to the "what is inventory?" question is risk
management. An interesting shift occurred recently regarding inventory. Though most
firms still attempt to keep inventories as low as possible because of the costs
associated with holding and managing them, there has been a growing emphasis on the
costs of not having or effectively managing inventories. In other words. inventory has
been increasingly described in terms of risk management, where the costs and impacts
of stockouts, missed service opportunities, and unforeseen supply chain interruptions
have become a primary decision-driver for firms. This has resulted m firms becoming
much more enthusiastic about concepts such as safety stock. Their rationale has been
the sentiment, "we can't afford to not have safety stock inventory!" Because of this,
inventory has interestingly become a means of managing risks.

In general, there appears to be much more sensitivity to the rnisk of potential supply
chain disruptions. In many cases, these disruptions are the result of some uncertainty
ivolved i managing supply chain processes. Sometimes the uncertainty 15 because of
poor information availability, sometimes it is associated with uncertainty in
manufacturing lead time; sometimes it is uncertainty in execution of specific tasks in
various supply chain processes. In any case, uncertainty is the primary culprit involved
in supply chain disruptions. OUne way that many firms have chosen to deal with such
uncertainties is to hedge against them with inventory investment. Although this
philosophy 1s a matter worth much debate, the reality is that many businesses engage
in this practice for various reasons and, therefore, consider inventory as a means of
managing and mitigating risks.

16- What does the passage mainly discuss?
1} A popular business topic
2) Ways of keeping inventories low
3) The risk management perspective on inventory
4) Long-standing questions about risk management
17- The author implies that safety stock has become a popular concept because -——---——----- ;
1) it is unlikely to keep firms operating without it
2) a larger market can be targeted with it
3) there are many complications involved in a rnisk-free management system
4) firms are likely to experience unfavorable conditions without it
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18- According to paragraph 2, which of the following could account for supply chain
disruptions?
1) Businesses are not sure how long it takes to produce goods.
2) Businesses rid their warehouses of unsold goods.
3) Suppliers are not certain about customers' quality requirements.
4) Suppliers are unable to handle considerable demands in a limited time.
19-  The word "culprit" in paragraph 2 could best be replaced by -———-—-—- :
1) failure 2) cause 3) impact 4) difficulty
20- By reading this passage, one can come to the conclusion that inventory storage ——----—-—,
1)1s a subject that 1s arguable
2) 15 one of the fundamental concepts of business
3) has been an under-researched area in big businesses
4} has a direct relationship with revenue

PASSAGE 2:

Obviously, Toyota has successfully applied Theory of Constraint to develop lean
manufacturing. Constraint management is a framework for managing the constraints of
a system in a way that maximizes the system's accomplishment of goals or throughput.
Throughput 1s defined as the rate at which the system generates money through sales.
Constraint is the part of the system that determines the output. The rate of throughput
of the whole system is equal to the rate of the throughput of the constraint.

Formerly, manufacturers produced vehicles based solely on sales forecasts. If the
sale forecast was inaccurate, manufacturers would produce cars that customers did not
want, and as a result end up with high stock at dealerships. Moreover. manufacturers
always produced the vehicles in the same model with very high volume n order to
gain the economy of scale. However, those efficient productions would lead to very
high end wvehicles that no one wanted and hence vehicle manufacturer would lose
profit. The constraint was the lack of linkage between manufacturing and customer
demands that lead to excessive inventories at dealerships.

Toyota knew about this problem, and had developed the lean manufacturing and the
Tovota product development process to counter it. Toyota had put customers into the
first process of production development by creating customer-defined value, and using
it as a core value to drive other processes. This ensures that the vehicles Toyota
manufactures would be as close to customer preference as possible. In addition,
Toyota created the standardized product platforms that can be used with various
vehicles' models so they can produce a large volume of product platforms to achieve
the economy of scale, while still being able to build the product in the assembly
process with respect to customer preference. Furthermore, Tovota countered this
constraint by transformmg the batch processing to continuous flow. This creates
tremendous flexibility for manufacturers so that they can adjust production in
accordance with demand. This is because manufacturers produce one piece at a time.
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21-

22-

23-

24-

25-

According to paragraph 1, which of the following is true?

1) Theory of Constraint was first developed by Tovota to manage production-related
constraints.

2) An integration of lean manufacturing and constraint management is a strategy many
car manufacturers use.

3) The success of Tovota is the result of accurate sales forecasts.

4) Constraint management 1s a contributor to throughput.

The author implies that car manufacturers cannot sell their products ———--——- :

1) because they attempt to diversify into new models

2) without making long-term sales forecasts

3) unless they customize them

4) until they respond to customer complaints

What does the third paragraph mainly discuss?

1} Challenges Tovota is faced with

2) What made Toyota a leading manufacturer

3) The effects of constraints on Toyota production

4) Techniques for removing a constraint at Toyota

Based on the information in the passage, standardized product platforms enabled

Toyota to ——--n-m-—v -

1) repair manufacturing defects immediately

2) minimize expenditure against increased production

3) design differentiated cars faster and cheaper

4) simplify its assembly process despite limitations

The word "they" in paragraph 3 refers to —-—--———- .
1) vehicles 2) manufacturers 3) platforms 4) models
PASSAGE 3:

The disappointing results of many conventional road transport projects in Africa led
some experts to rethink the strategy by which rural transport problems were to be
tackled at the beginning of the 1980s. A request for help in improving the availability
of transport within the remote Makete District of southwestern Tanzania presented the
opportunity to fry a new approach. The concept of 'integrated rural transport’ was
adopted in the task of examining the transport needs of the rural households in the
district. The objective was to reduce the time and effort needed to obtain access to
essential goods and services through an improved rural transport system. The
underlying assumption was that the time saved would be used instead for activities that
would improve the social and economic development of the communities. The Makete
Integrated Rural Transport Project (MIRTP) started in 1985 with financial support
from the Swiss Development Corporation and was co-ordinated with the help of the
Tanzanian government.

When the project began, Makete District was virtually totally isolated during the
rainy season. The regional road was in such shape that access to the main towns was
impossible for about three months of the vear. Road traffic was extremely rare within
the district, and alternative means of transport were restricted to donkeys in the north
of the district. People relied primarily on the paths, which were slippery and dangerous
during the rains. Before solutions could be proposed, the shortcomings had to be
understood. Little was known about the transport demands of the rural households, so
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Phase 1, between December 1985 and December 1987, focused on research. The
socio-economic survey of more than 400 households in the district indicated that a
household in Makete spent, on average, seven hours a day on transporting themselves
and their goods, a figure which seemed extreme but which has also been obtamed in
surveys i other rural areas in Africa. Interesting facts regarding transport were found;
95% was on foot; 80% was within the locality; and 70% was related to the collection
of water and firewood and travelling to grninding mills.

26- Based on the information in paragraph 1, why did some experts rethink the strategy to
deal with rural transport problems?
1} Earlier road projects had not been successful.
2) They were never satisfied with conventional road projects.
3) In the 1980s, rural households found it necessary to transport their goods.
4) The increasing number of transport problems in Africa made them worried.
27-  The author mentions the Swiss Development Corporation in paragraph 1 {o ---—---- —
1) highlight the role of MIRTP in its recognition
2) show the relationship between the Swiss and the Tanzanian governments
3) explain how it contributed to MIRTP
4) point out that it supports an underdeveloped country on a regular basis
28- What is the main topic of paragraph 27
1) Identifying the main transport problems in Makete District
2) Request for improved transport in Makete District
3) Demonstrating the effects of initial MIRTP on rural districts
4) Transport improvements in the northern part of Makete District
29- The word "which" in paragraph 2 refers to —=-—=-—=—----- i
1) household 2) district 3) figure 4) goods
30- It can be inferred from the passage that ——-------—- 4
1) MIRTP hoped to improve the movement of goods from Makete District to the
country's capital
2) Tanzania is not the only African country where the people of rural areas spend too
much time on transport
3) success of projects such as MIRTP does not depend on the cooperation of local
people willing to lend a hand
4) road networks in Tanzania are under direct supervision of government officials
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